PRADINE LBIED RS L

1.8% (1) 5¢+3 2) 8x+2 (3) 6a+3 4) —2z-5 3.8 (1) 11lz-3 (2) —ba—38 (3) 2x—3
(1) (3a+5)+(2¢a—2)=3a+5+2a—2 6) 3a+11 (7 -3
=3a+2a+5—2 1) z—1)+(Tz—2)=4z—1+T7z—-2
=ba +3 =4z +T2z—-1-2
(2) (bx—4)+(3xz+6)=52—4+3x+6 =11z -3
=b52z+3r—4+6 2) (—2a—5)—(3a+3)=—2a—5—3a—3
=8z +2 =—2a—3a—-5-3
B (Ta+D)+(—a+2)=7a+1—a+2 =—b5a—8
=T7a—a+1+2 @) (—6x+2)+(—5+8z)=—6r+2—5+8=
=6a+3 =—6z+82+2-5
4) (4x—3)+(—6x—2)=4x—3—6x—2 =2z—3
=4z —6x—3—2 4) (=1=7a)+(=5+4+7a)=—-1—Ta—5+"7a
=—2z—5 =—T7a+7a—-1-5
=—6
2.8% (1) 3a-—6 (2) 2x+38 (3) 6a+6 4) 9z-3 5) B+12y)—(—4y+10)=3+12y +4y —10
(1) (4a—5)—(a+1)=4a—-5—a—1 =12y +4y+3—-10
=4a—a—-5—-1 =16y —7
=3a—6 6) (1la—3)+(14—8a)=1la —3+14—8a
2) (5r+4)—(3z—4)=5r+4—3z+4 =1la —8a —3+14
=br—3r+4+4 =3a+11
=2r+38 (1) (—15+46x)—(—12+5z)=—15+62+12—52
3 (@+8)—(—5a+2)=a+8+b5a—2 =6z —5x—15+12
=a+5a+8-2 =z—3
=6a+6
4) (2r—6)—(—72—3)=2x—6+7x+3
=2z+72x—6+3
=9z —3




